E. A. Illupsea (www.time4math.ru) Aarebpa 7-9 raacc

CAOKEHHE H BEIYHTAHHE: YMHOXKEHHE MHOI'OYAEHOB:

1) (7a+8b-3)+(a—6b+10)= 9) (x+3)(x+2)=x? +2x+3x+6=x*+5x+6;

=7a+8b-3+a-6b+10=8a+2b+7; 10) (a-5)(@?+2a-5)=a®+2a%-5a-5a -10a+25=

2) (3x% —y?+2)—(11x%+2y? -4)= =a’®-3a®-15a+25;
=3_x2—y=2+2—1 1x2 —2i+4= 11)(2-m)(4+2m+m?)=8+4m+2m? -4m—-2m?-m3 =8 -m3;
=_8x2 -3y? +6; |
MHOro4uA€eHsI POPMYABI COKpPAILIEHHOTr0 YMHOXeHHS (PCY):

(a-b)(a+b)=a?-b?

YMHOMXeHHE Ha OJHOYAEH:
12) (a-y)la+y)=a? "'Cﬂ—Cﬂ—yZ —a? -y

3)ala®+3)=a’+3a; 13) (n+3m)(n—3m)=n?—-(3m)* =n?-9m?;
4)-2(4a®-b)+5(b-b?)=

a+b)? =a?+2ab+b?
—_8a®+2b+5b-5b2=—8a%+7h-5b @xb)

14) (x+2)% = (x+2)(x+2)= x> +2x+2x+4= x> +4x+4;
5) x(4-xy)-y(83-2x%)= 15) (8x—4y)? =(3x)? —2-3x-4y +(4y)? =9x% —24xy +16y?;
=4x—x%y-3y+2x%y=4x+x’y-3y;
— — (a+b)® =a®+3a’b+3ab?+b>

16) (x+3)% =(x+3)(x+3)(x+3)=(x+3)(x% +6x+9)=

JleAeHHEe Ha OLHOYAEH: =x%+6x° +9x+3x> +18x+27 = x> +9x* +27 x+27;
6) (7m2n2 +4mn2): (mn2)=Tm+4; 17) (2x—-1)° =(2x)° =3-(2x)* 1+3:(2x)-1* -1° =8x% -12x* +6x —1;
7)(8a°h? ~5a%b°): (8ah?) = a - 2 b; (atb)(a*Fab+b*)=a’+b’

18) (x—2)(x* +2x+4)= x> +2x2 +4x-2x2 —4x—8=x*-8;

19) (3a+1)(9a? -3a+1)=(3a+1)((3a)* -3a-1+1%)=
=(3a)®+1°=27a% +1.

8) (9x3 —6x2+3x):(3x)=3x% —2x+1;


http://www.time4math.ru/

